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7. Obtain the Z and Y paramelers of the network shown iy, fig ; EC-305 (Ré::sl‘\)h ..................................
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Figure-10 / & 3-10 Note: i) Attemptany five questions.
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8. Write short notes on any two of the following, “ Y ATl . 1 "
a) Tellegen’stheorem - 1) ques;lons Yy equé TDArKS.
b) ABCD parameters ) wt ® 37 2 . ] )
<) Initial and final value theorem iii} In case of any doubt or dispute the English version
reiiiigg & . question should T:_:e treated as final. .
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1. a) In the circuit of fig-1 at time #,, after the switch S was

closed, it is found that v, = + 5v. Determine the value of
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b) Inthe circuit of fig-2, the switch 8 is open an,
reaches a steady state. At £ =0the S is clos
cwrrent in the inductor for > 0,
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°d Ting th-  Forthe nerwnrk dhown in fig -4 wnite the De wt matna for the
taigs (2, 4, 5) and determine the loop currents and beanch
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2. a) Inthe circuit of fig-3, switch S is in positi ' ;
) carcunt of fig-3, switch S is in position 1 fora | £ /R

tme and moved to position 2 at 7 = 0. Find the voltage
across the capacitor v_(r) for r> 0.
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b) State and prove RLC parallel resonance.
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a) By superposition theorem calculate cxvent 1 m the corcust

shown m fig-5
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b) Find the norton equivalent circuit across termina) AB
<

the circuit shown in fig-6. b) In circuit of fig-8 the pulse shown is applied as v(f)

determine i(f).
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i theorem.
a) State and prove maximum power transfer
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b) For the circuitshownin fig-9, find thc cmr:::nt in the load
impedance, Z, = (2 +j4)¢2 using Millman's theorem.

5. a) In the circuit of fig-7 at ¢ = 0 the switch is closed 6-
Determine the voltage across the capacitor buy applyin;
Laplace transform. Assume the initial voltage across th:

capacitor as 2V, Also draw the S-domain representati
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